## FRANKLIN COUNTY ENGINEER'S OFFICE

## 970 DUBLIN ROAD

BID TAB FOR BIDDERS 1,2,3

COLUMBUS, OHIO 43215

PROJECT 2018 FRANKLIN COUNTY TOWNSHIP RESURFACING PROGRAM

ENGINEER ESTIMATE NUMBER ENGINEER'S EST 2018-03

 $\underline{BID\ DATE\ AND\ TIME}\quad Thursday,\ April\ 5,\ 2018,\ 2:00pm\ Local\ Time$ 

**COMPLETION DATE** August 31, 2018

						BIDDER 1		BIDDER 2		BIDDER	
				ENG EST		Columbus Asph	nalt Paving	Kokosing Const	ruction, Inc	Shelly & Sands	3
PROJ	ECT DA	ГА									
A) RO	ADWAY										
202		9360 LIN FT	CURB AND GUTTER REMOVED	\$6.000	\$56,160.00	\$11.000	\$102,960.00	\$10.250	\$95,940.00	\$8.650	\$80,964.00
202		346 SQ YD	WEARING COURSE REMOVED (ASPHALT DRIVEWAY)	\$27.000	\$9,342.00	\$9.000	\$3,114.00	\$14.500	\$5,017.00	\$13.600	\$4,705.60
202		1170 SQ YD	WEARING COURSE REMOVED (CONCRETE DRIVEWAY)	\$35.000	\$40,950.00	\$17.000	\$19,890.00	\$26.000	\$30,420.00	\$25.650	\$30,010.50
202		687 SQ FT	WALK REMOVED	\$3.000	\$2,061.00	\$2.650	\$1,820.55	\$3.600	\$2,473.20	\$1.650	\$1,133.55
254		63795 SQ YD	PAVEMENT PLANING, ASPHALT CONCRETE (1.50")	\$2.000	\$127,590.00	\$2.260	\$144,176.70	\$1.700	\$108,451.50	\$2.600	\$165,867.0
254		12433 SQ YD	PAVEMENT PLANING, ASPHALT CONCRETE (1.75")	\$2.000	\$24,866.00	\$2.400	\$29,839.20	\$2.400	\$29,839.20	\$2.900	\$36,055.7
254		7376 SQ YD	PAVEMENT PLANING, ASPHALT CONCRETE (2.0")	\$2.150	\$15,858.40	\$2.250	\$16,596.00	\$1.650	\$12,170.40	\$2.550	\$18,808.80
452		1170 SQ YD	6" PLAIN CONCRETE	\$60.000	\$70,200.00	\$64.000	\$74,880.00	\$64.150	\$75,055.50	\$76.000	\$88,920.00
603		750 LIN FT	3" PVC PLASTIC PIPE (ROOF DRAIN)	\$17.000	\$12,750.00	\$12.500	\$9,375.00	\$24.100	\$18,075.00	\$17.900	\$13,425.00
605		9264 LIN FT	4" SHALLOW PIPE UNDERDRAIN	\$8.000	\$74,112.00	\$8.750	\$81,060.00	\$7.000	\$64,848.00	\$10.600	\$98,198.40
608		407 SQ FT	4" CONCRETE WALK	\$6.000	\$2,442.00	\$7.300	\$2,971.10	\$7.200	\$2,930.40	\$8.400	\$3,418.80
608		280 SQ FT	CURB RAMP	\$16.500	\$4,620.00	\$15.000	\$4,200.00	\$10.500	\$2,940.00	\$30.550	\$8,554.00
609		3358 LIN FT	CURB AND GUTTER, TYPE 2	\$19.000	\$63,802.00	\$16.500	\$55,407.00	\$18.250	\$61,283.50	\$25.250	\$84,789.5
609		6002 LIN FT	CURB, TYPE 6	\$19.000	\$114,038.00	\$18.000	\$108,036.00	\$20.250	\$121,540.50	\$19.650	\$117,939.30

			ENG EST		BIDDER 1 Columbus Aspl	halt Paving	BIDDER 2 Kokosing Const	truction, Inc	BIDDER Shelly & Sands	;
611	6 ЕАСН	CATCH BASIN RECONSTRUCTED	\$750.000	\$4,500.00	\$900.000	\$5,400.00	\$950.000	\$5,700.00	\$1,160.000	\$6,960.00
653	246 CU YD	TOPSOIL FURNISHED AND PLACED	\$75.000	\$18,450.00	\$84.000	\$20,664.00	\$50.000	\$12,300.00	\$62.500	\$15,375.00
659	1747 SQ YD	SEEDING AND MULCHING	\$3.000	\$5,241.00	\$2.400	\$4,192.80	\$2.350	\$4,105.45	\$1.550	\$2,707.85
SPC	8 EACH	RETRO FIT TYPE D DOME	\$300.000	\$2,400.00	\$245.000	\$1,960.00	\$407.000	\$3,256.00	\$53.600	\$428.80
		CATEGORY TO	OTALS	\$649,382.40		\$686,542.35		\$656,345.65		\$778,261.80
B) PAVEME	ENT									
253	65 CU YD	PAVEMENT REPAIR, 3" DEPTH, WITH FABRIC, AS PER PLAN	\$500.000	\$32,500.00	\$410.000	\$26,650.00	\$365.000	\$23,725.00	\$600.000	\$39,000.00
253	886 CU YD	PAVEMENT REPAIR, 6" DEPTH, AS PER PLAN	\$255.000	\$225,930.00	\$400.000	\$354,400.00	\$250.000	\$221,500.00	\$300.000	\$265,800.00
301	200 TON	ASPHALT CONCRETE BASE	\$68.000	\$13,600.00	\$72.000	\$14,400.00	\$97.000	\$19,400.00	\$100.000	\$20,000.00
407	5843 GAL	NON TRACKING TACK COAT	\$3.750	\$21,911.25	\$4.600	\$26,877.80	\$3.450	\$20,158.35	\$2.850	\$16,652.55
SPC	12433 SQ YD	STRESS ABSORBING MEMBRANE INTERLAYER	\$3.000	\$37,299.00	\$3.500	\$43,515.50	\$3.410	\$42,396.53	\$3.000	\$37,299.00
423	11404 SQ YD	CRACK SEALING, TYPE IV	\$0.550	\$6,272.20	\$0.800	\$9,123.20	\$0.760	\$8,667.04	\$0.400	\$4,561.60
441	317 TON	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (448), PG64-22, AS PER PLAN	\$86.000	\$27,262.00	\$86.000	\$27,262.00	\$87.000	\$27,579.00	\$78.000	\$24,726.00
441	7336 TON	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22, AS PER PLAN	\$86.000	\$630,896.00	\$82.000	\$601,552.00	\$85.500	\$627,228.00	\$74.000	\$542,864.00
441	58 TON	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22, AS PER PLAN (DRIVEWAY)	\$200.000	\$11,600.00	\$140.000	\$8,120.00	\$160.000	\$9,280.00	\$74.000	\$4,292.00
SPC	8925 SQ YD	ASPHALT REJUVENATOR	\$1.000	\$8,925.00	\$1.000	\$8,925.00	\$0.960	\$8,568.00	\$1.000	\$8,925.00
405	18816 SQ YD	BITUMINOUS COLD MIX	\$7.000	\$131,712.00	\$9.000	\$169,344.00	\$8.850	\$166,521.60	\$6.400	\$120,422.40
		CATEGORY TO	OTALS	\$1,147,907.45		\$1,290,169.50		\$1,175,023.52		\$1,084,542.55
C) TRAFFIC	:									
614	1200 HOUR	FLAGGER	\$72.000	\$86,400.00	\$65.000	\$78,000.00	\$60.000	\$72,000.00	\$70.000	\$84,000.00
614	200 HOUR	LAW ENFORCEMENT OFFICER	\$70.000	\$14,000.00	\$60.000	\$12,000.00	\$67.000	\$13,400.00	\$63.000	\$12,600.00
614	1 LUMP	MAINTAINING TRAFFIC	\$35,000.000	\$35,000.00	\$6,500.000	\$6,500.00	\$16,707.590	\$16,707.59	\$69,000.000	\$69,000.00
644	177 LIN FT	STOP LINE, WHITE, 24"	\$7.000	\$1,239.00	\$17.000	\$3,009.00	\$6.350	\$1,123.95	\$6.750	\$1,194.75

		ENG EST			BIDDER 1 Columbus Asphalt Paving		BIDDER 2  Kokosing Construction, Inc		BIDDER Shelly & Sands		
•		CATEGORY	TOTALS	\$136,639.00		\$99,509.00		\$103,231.54		\$166,794.75	
D) MISCELLAN.	EOUS 1 LUMP	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	\$10,000.000	\$10,000.00	\$10,000.000	\$10,000.00	\$6,000.000	\$6,000.00	\$5,500.000	\$5,500.00	
		CATEGORY	TOTALS	\$10,000.00		\$10,000.00		\$6,000.00		\$5,500.00	
		BASE	BID TOTALS	\$1,943,928.85		\$2,086,220.85		\$1,940,600.71	\$	52,035,099.10	

## FRANKLIN COUNTY ENGINEER'S OFFICE

## 970 DUBLIN ROAD COLUMBUS, OHIO 43215

BID TAB FOR BIDDERS 4,5,6

PROJECT 2018 FRANKLIN COUNTY TOWNSHIP RESURFACING PROGRAM

ENGINEER ESTIMATE NUMBER ENGINEER'S EST 2018-03

BID DATE AND TIME Thursday, April 5, 2018, 2:00pm Local Time

**COMPLETION DATE** August 31, 2018

			ENG EST		BIDDER 4 The Shelly Co.		BIDDER 5 Strawser Paving C		BIDDER	
PROJECT DA	TA									
202	9360 LIN FT	CURB AND GUTTER REMOVED	\$6.000	\$56,160.00	\$3.750	\$35,100.00	\$3.750	\$35,100.00	\$0.000	\$0.00
202	346 SQ YD	WEARING COURSE REMOVED (ASPHALT DRIVEWAY)	\$27.000	\$9,342.00	\$11.900	\$4,117.40	\$19.000	\$6,574.00	\$0.000	\$0.00
202	1170 SQ YD	WEARING COURSE REMOVED (CONCRETE DRIVEWAY)	\$35.000	\$40,950.00	\$9.000	\$10,530.00	\$9.000	\$10,530.00	\$0.000	\$0.00
202	687 SQ FT	WALK REMOVED	\$3.000	\$2,061.00	\$2.250	\$1,545.75	\$2.250	\$1,545.75	\$0.000	\$0.00
254	63795 SQ YD	PAVEMENT PLANING, ASPHALT CONCRETE (1.50")	\$2.000	\$127,590.00	\$1.500	\$95,692.50	\$1.100	\$70,174.50	\$0.000	\$0.00
254	12433 SQ YD	PAVEMENT PLANING, ASPHALT CONCRETE (1.75")	\$2.000	\$24,866.00	\$1.950	\$24,244.35	\$1.450	\$18,027.85	\$0.000	\$0.00
254	7376 SQ YD	PAVEMENT PLANING, ASPHALT CONCRETE (2.0")	\$2.150	\$15,858.40	\$2.000	\$14,752.00	\$1.700	\$12,539.20	\$0.000	\$0.00
452	1170 SQ YD	6" PLAIN CONCRETE	\$60.000	\$70,200.00	\$55.000	\$64,350.00	\$55.000	\$64,350.00	\$0.000	\$0.00
603	750 LIN FT	3" PVC PLASTIC PIPE (ROOF DRAIN)	\$17.000	\$12,750.00	\$8.150	\$6,112.50	\$8.150	\$6,112.50	\$0.000	\$0.00
605	9264 LIN FT	4" SHALLOW PIPE UNDERDRAIN	\$8.000	\$74,112.00	\$8.000	\$74,112.00	\$7.000	\$64,848.00	\$0.000	\$0.00
608	407 SQ FT	4" CONCRETE WALK	\$6.000	\$2,442.00	\$4.600	\$1,872.20	\$4.600	\$1,872.20	\$0.000	\$0.00
608	280 SQ FT	CURB RAMP	\$16.500	\$4,620.00	\$8.550	\$2,394.00	\$8.550	\$2,394.00	\$0.000	\$0.00
609	3358 LIN FT	CURB AND GUTTER, TYPE 2	\$19.000	\$63,802.00	\$15.500	\$52,049.00	\$15.500	\$52,049.00	\$0.000	\$0.00
609	6002 LIN FT	CURB, TYPE 6	\$19.000	\$114,038.00	\$15.000	\$90,030.00	\$14.500	\$87,029.00	\$0.000	\$0.00

.611	6 EACH	CATCH BASIN RECONSTRUCTED	\$750.000	\$4,500.00	\$450.000	\$2,700.00	\$450.000	\$2,700.00	\$0.000	\$0.00
653	246 CU YD	TOPSOIL FURNISHED AND PLACED	\$75.000	\$18,450.00	\$59.000	\$14,514.00	\$59.000	\$14,514.00	\$0.000	\$0.00
659	1747 SQ YD	SEEDING AND MULCHING	\$3.000	\$5,241.00	\$1.450	\$2,533.15	\$1.450	\$2,533.15	\$0.000	\$0.00
SPC	8 EACH	RETRO FIT TYPE D DOME	\$300.000	\$2,400.00	\$170.000	\$1,360.00	\$170.000	\$1,360.00	\$0.000	\$0.00
		CATEGORY T	OTALS	\$649,382.40		\$498,008.85		\$454,253.15		\$0.00
B) PAVEM	ENT									
253	65 CU YD	PAVEMENT REPAIR, 3" DEPTH, WITH FABRIC, AS PER PLAN	\$500.000	\$32,500.00	\$550.000	\$35,750.00	\$515.000	\$33,475.00	\$0.000	\$0.00
253	886 CU YD	PAVEMENT REPAIR, 6" DEPTH, AS PER PLAN	\$255.000	\$225,930.00	\$250.000	\$221,500.00	\$240.000	\$212,640.00	\$0.000	\$0.00
301	200 TON	ASPHALT CONCRETE BASE	\$68.000	\$13,600.00	\$85.000	\$17,000.00	\$75.000	\$15,000.00	\$0.000	\$0.00
407	5843 GAL	NON TRACKING TACK COAT	\$3.750	\$21,911.25	\$3.450	\$20,158.35	\$4.150	\$24,248.45	\$0.000	\$0.00
SPC	12433 SQ YD	STRESS ABSORBING MEMBRANE INTERLAYER	\$3.000	\$37,299.00	\$3.410	\$42,396.53	\$3.410	\$42,396.53	\$0.000	\$0.00
423	11404 SQ YD	CRACK SEALING, TYPE IV	\$0.550	\$6,272.20	\$0.540	\$6,158.16	\$0.760	\$8,667.04	\$0.000	\$0.00
441	317 TON	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (448), PG64-22, AS PER PLAN	\$86.000	\$27,262.00	\$84.000	\$26,628.00	\$79.000	\$25,043.00	\$0.000	\$0.00
441	7336 TON	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22, AS PER PLAN	\$86.000	\$630,896.00	\$84.000	\$616,224.00	\$88.000	\$645,568.00	\$0.000	\$0.00
441	58 TON	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22, AS PER PLAN (DRIVEWAY)	\$200.000	\$11,600.00	\$150.000	\$8,700.00	\$245.000	\$14,210.00	\$0.000	\$0.00
SPC	8925 SQ YD	ASPHALT REJUVENATOR	\$1.000	\$8,925.00	\$0.960	\$8,568.00	\$0.960	\$8,568.00	\$0.000	\$0.00
405	18816 SQ YD	BITUMINOUS COLD MIX	\$7.000	\$131,712.00	\$8.850	\$166,521.60	\$8.850	\$166,521.60	\$0.000	\$0.00
		CATEGORY T	OTALS	\$1,147,907.45		\$1,169,604.64		\$1,196,337.62		\$0.00
C) TRAFFI	C									
614	1200 HOUR	FLAGGER	\$72.000	\$86,400.00	\$75.000	\$90,000.00	\$45.000	\$54,000.00	\$0.000	\$0.00
614	200 HOUR	LAW ENFORCEMENT OFFICER	\$70.000	\$14,000.00	\$75.000	\$15,000.00	\$50.000	\$10,000.00	\$0.000	\$0.00
614	1 LUMP	MAINTAINING TRAFFIC	\$35,000.000	\$35,000.00	\$17,250.000	\$17,250.00	\$25,000.000	\$25,000.00	\$0.000	\$0.00
644	177 LIN FT	STOP LINE, WHITE, 24"	\$7.000	\$1,239.00	\$6.350	\$1,123.95	\$6.350	\$1,123.95	\$0.000	\$0.00
		CATEGORY T	OTALS	\$136,639.00		\$123,373.95		\$90,123.95		\$0.00
D) MICCEI	LANGOUG									

D) MISCELLANEOUS

\$10,000.000 \$8,000.000 \$12,800.000 \$12,800.00 \$0.000 \$10,000.00 \$8,000.00 \$0.00 1 LUMP PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND \$0.00 \$10,000.00 \$8,000.00 \$12,800.00 **CATEGORY TOTALS** \$0.00 \$1,798,987.44 \$1,753,514.72 BASE BID TOTALS \$1,943,928.85